KOC UNIVERSITY

MATH 101
FINAL EXAM JANUARY 21, 2009

Duration of Exam: 120 minutes

INSTRUCTIONS:

e No books, no notes, no questions, and talking allowed.
e You must always explain your answers and show your work to receive full credit.

e Print (use CAPITAL LETTERS) and sign your name. GOOD LUCK!
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Section 1: Selda Kigiikgifei TTh 11:00=12:15
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Section 5: Burak Ozbager MWW 11:00-120 15
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Problem 1 (10 pts) a) cos(arctan(—1)) = ?
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b) Solve the following equation for .

g} =2
Q\r\ *g.q' = E_l
2
T . lﬁ- € = ¢
iﬁ : A

b o

.



Problem 2 (10 pts) An investor purchases 450 shares at $21.40 a share, holds

the stock for 26 weeks, then sells the stock for $24.60 a share. Use thie commission

schedule below to find the annal rate of interest earned by the investiment.
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532 + 1.8% of principal
$56 -+ L% of principal
106 + 0.5% of principal

LSO » 34 LD = 4§ 8630

(_Grrm!f.itﬂn t

P. 9620« 462.3

(ST « 266D - §
C,ﬂ-mm':_{_t,':nmr

A

8. P Uhae})

10308, LS = 3782, 30 (h ¢

4630 « 0,01

11070 «
HOFO - 164,38 -

| She & 1823

- § 9382,20

14030

0,008 106 - § 16138

9 10408, 6S

£
52

{0308, 6S . 3182,20 « (994 IS¢
( 2 0,230.22
i = .21'0-22 r"‘/f:u



Problem 3 (15 pts) A family has a $80.000, 20 year mortgage al, 8% compounded
monthly.

a) Find the monthly payment.

U 00? 2,0
0000 . PMMT
0,0F
{2
PMT. 20000 . 098 A . § 668,48
3 12 | \ DDR )-.ELD =
k ' {_]

b) Suppose the family decides to add an extra $100 to its mortgage payment cach
month starting with the very first payment. How long will it take the family to pay

off the mortgage,
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Problem 4 (10 pts) Write the solutions for the linear systems corresponding to

the following augmented matrices.
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Problem 5 (15 pts) a) Draw the region for { w43y > —6
=

b) Use geometric method to minimize and maximize P = 10z + 3
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Problem 6 (15 pts) Maximize P = 4y + 3y + 2uy
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Problem 7 (15 pts) Find the following limits.
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Problem 8 (10 pts) Find the values of a and b that make [ continuous everywhere.
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